

1.73
P2

$$\log_m x + \log_{mx} x > 0$$

$$\log_m x + \frac{1}{\log_x mx} > 0$$

$$\log_m x + \frac{1}{\log_x m + \log_x x} > 0 \quad x \neq \frac{1}{m}$$

$$\log_m x + \frac{1}{\log_x m + 1} > 0$$

$$t + \frac{1}{\frac{1}{t} + 1} > 0$$

$$\log_m x = t \quad \text{no!}$$

$$0 < t + \frac{1}{\frac{1+t}{t}} = t + \frac{t}{1+t} = \frac{t(1+t)+t}{1+t} = \frac{t^2+2t}{1+t} = \frac{t(t+2)}{1+t}$$

$$t > 0 \quad -2 < t < -1 \quad \begin{matrix} + & + \\ -2 & -1 & 0 \end{matrix}$$

$$x > m = 1 \leftarrow \log_m x = t > 0 \quad m > 1 \text{ or } \frac{1}{m} < x < 1$$

$$\frac{1}{m^2} < x < \frac{1}{m} \leftarrow -2 < \log_m x < -1 \leftarrow -2 < t < -1$$

$$0 < x < m = 1 \leftarrow \log_m x = t > 0 \quad 0 < m < 1 \text{ or } \frac{1}{m} > x > \frac{1}{m}$$

$$\frac{1}{m^2} > x > \frac{1}{m} \leftarrow -2 < \log_m x < -1$$

$1 \neq m > 0$
 $x > 0$
 $1 \neq mx > 0$
 \downarrow
 P1, P2, P3, P4
 P1, P2, P3, P4